Nowa partia

h

= b+b
1.8g6+! fxg6 2.Gc5+! Se7!

[2..Ke8 3.f7+ Kd7 4.f8H] =
3.Gd4!

[ 3.Gxe7+!Ke8 1T
3..h5+ 4.Kf3|

[ 4.Kxh31Hh6 5.Ge3 Ke8 6.f7+ Kd7

7.5e6 Hxe3+]+x
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Tematord zhudn

4..Hh6 5.Ge3'Hh8 6.Gd4 Hhé
[6..Hg8 7.f7 Hxf7+ 8.Sxf7 Kxf7
0.Kf4]=
[6..Sd5 7.Se6+ Ke8 8.f7+ Kxf7
9.Sg5+ Kg8 10.Gxh8 Kxh8
11.8xh3 1=

7.Ge3 Ke8
[7..Sf5 8.Se6+ Kf7 9.Gxh6 Sxh6
(9..Kxe6 10.Gg5) 10.Sg5+ Kxf6
11.8xh3 ] =

8.f7+ Kd7' 9.Se6!
[9.Sh77g5 10.f8H g4+ 11.Ke2
Hxh7 1%

9..95!10.Gxg5
[ 10.f8H7 g4+ 11.K2 Hxe6] &

10...Hxe6 11.f8S+! (s




